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8. Consider a small town that has two grocery stores from which residents can choose to buy a gallon of milk. The store owners each must make a decision to
set a high milk price or a low milk price. The payoff table, showing profit per week, is provided below. The profit in each cell is shown as (Store 1, Store 2).

Store 2
Low Price High Price
Low Price (500, 500) (800, 100)
Store | ) .
High Price {100, 800) (650, 650)

What is grocery store 2's dominant strategy?
{A)Grocery store 2 does not have a dominant strategy.
(B) Grocery store 2 should always set a low price.
(C) Grocery store 2 should always set a high price.
(D) Grocery store 2 should set a low price when grocery store 1 sets a low price, and grocery store 2 should set a high price when grocery store 1 sets a
high price.

9. Studies indicate that the price elasticity of demand for cigarettes is about 0.4. A government policy aimed at reducing smoking changed the price of a pack
of cigarettes from $2 to $6. According to the midpoint method, the govemment policy should have reduced smoking by
{A)30%. (B)40%. (C)80%. (D)250%.

10. The supply and demand of cauliflower can be described as below: *a % {%WEEH EU
A
Supply: (J, = 4P - 80 Demand: (J,, =100-2P Exam Printed on 2 sides
Please compute the equilibrium price and quantity of the cauliflower. :
{A) Equilibrium Q = 50 (B) Equilibrium price = 20 {C) Equilibrium Q = 80 (D) Equilibrium price = 30

t1. If the government places a $1,000 tax on luxury cars, then
{(A) the price paid by consumers rise by more than $1,000. (B) the price paid by consumers rise by $1,000.
(C) Sellers receive falls by less than $1,000. (D) Sellers receive falls by more than $1,000.

12, Economists typically measure efficiency using
{A) the price paid by buyers. (B) the quantity supplied by seilers. (C) total surplus. (D) profits to firms.

13. The world price of a pound of T-bone steak is $9.00. Before Latvia allowed trade in beef, the price of a pound of T-bone steak there was $7.50. Once
Latvia began allowing trade in beef with other countries, Latvia began
(A) exporting T-bone steak and the price per pound in Latvia remained at $7.50.
(B) exporting T-bone steak and the price per pound in Latvia increased to $9.00.
(C) importing T-bone steak and the price per pound in Latvia remained at $7.50.
(D) importing T-bene steak and the price per pound in Latvia increased to $9.00.

14. Suppose that the economy is at long-run equilibrium. If there is a sharp decline in the stock market combined with a significant increase in immigration
of skilled workers, then in the short run
{A) real GDP will rise and the price level might rise, fall, or stay the same.  (B) real GDP will fall and the price level might rise, fall, or stay the same.
(C) the price level will fall, and real GDP might rise, fall, or stay the same. (D) the price level will rise, and real GDP might rise, fall, or stay the same.
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15. Which of the following equations is always correct in an open economy?

(A) I=Y-C (B) [=§ (C) TI=8-NCO (D) I=5+NX
16. Suppose that this year’s money supply is $500 billion, nominal GDP is $10 trillion, and real GDP is $5 trillion. What is the velocity of Money?
(A} 10 times (B) 20 times (C) 5 times {D} None of the above is correct.

I7. Economists in Funlandia, a closed economy, have collected the following information about the economy for a particular year:
Y=10,000; C=6,000; T=1,500; G=1,700.
The economists also estimate that the investment function is: I = 3,300 — 200r, where r is the country’s real interest rate, expressed as a percentage. Public
saving is
(A) 200. (B)2500. (C)-200 (D) 2300

18. In which of the following instances is the present value of the future payment the largest?
(A} You will receive $1,000 in 5 years and the annual interest rate is 5 %. {B) You will receive $1,000 in 10 years and the annual interest rate is 3%.
(C} You will recetve $2,000 in 10 years and the annual interest rate is 10%. (D) You will receive $2,400 in 15 years and the annual interest rate is 8%.

19, According to the efficient market hypothesis, which of the following statements is not correct?
{A) Stock market prices tend to rise today if they rose yesterday.
(B) As judged by the typical person in the market, all stocks are fairly valued all the time.
(C) At the market price, the number of shares being offered for sale matches the number of shares people want to buy.
(D) All of the above statements are incorrect,

20. In June 2011 the government reported an adult population of 234.9 million, a labor force of 154 million and employment of 141.6 million. Based on

these numbers the unemployment rate was
(A)93.3/2349. (B) 12.4/234.9, (C)93.3/154. (D) 12.4/154.

21. According to the Phillips curve, policymakers would reduce inflation but raise unemployment if they
(A) decreased the money supply. (B} increased government expenditures. (C) decreased taxes. {D) None of the above is correct.

22.1f the sacrifice ratio is 2, reducing the inflation rate from 4 percent to 2 percent would

(A) cost | percent of annual output. (B} cost 4 percent of annual output. i
(D) imply that unemployment would rise by 1%. (E) imply that unemployment would rise by 4%. *aﬁ%ﬁiEEDEJ

Exam Printed on 2 sides.

23. If the MPC = 0.85, then the government purchases multiplier is about
(A) 1.18. (B) 333 (C) 6.67. (D) 8.5.

24. The misperceptions theory of the short-run aggregate supply curve says that if the price level is higher than people expected, then some firms believe that
the relative price of what they produce has
(A) decreased, so they increase production. {B) decreased, so they decrease production.
{C) increased, so they increase production. (D) increased, so they decrease production.

25. Suppose the price of a Big Mac in Taiwan is NT$80. The price in the USA is US$4. According to the purchasing power parity, the predicted nominal
exchange rate is
(A) US$1 = NT§29. (B) NT$1 = US$1/20. (C) USH1 = NT$30. (D) NT$1 = US$1/29.
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